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Assessment Name : OPRB CBRE Warder- 24th Dec 2022-S1.-2(A)
# QUESTION
Subject: General English | Chapter: Set-2

Mina : Would you like to come to watch a movie this weekend ?

1
Q) Nina : I'd like to but I'm afraid
A. I don't have time
) B. I shall not have time
Options
JCs [ won't have time
D. [ haven't time
Q@2 L hope everything ~ well for you.
A. 2o
B. shall go
Options _
JE. will go
D. going
Q@3 It's I who your help.
VA, need
B. needs
Options ) )
G 1s needing
D. needed
He was deeply grieved and said to his wife, "What can I do for you ?" (Change into Indirect
Q)
Speech)
A. He was deeply grieved and asked his wife what he can do for her.
; B. He was deeply grieved and said that what can he do for her.
Options ) .
v G He was deeply grieved and asked his wife what he could do for her.
D. He grieved deeply and told his wife what could he do to her.
Q5 It is not my favourite job but I like kitchen as often as possible.
A. cleaning
) B. clean
Options
JIC, to clean
D. that [ clean
Q6) A plague of locusts would have left more than this.
The underlined word means
Options | 4, a very grave infections disease
v B. a serious nuisance
C. a large number of insects that come to an area at one time
D. an infections disease spread up rats.
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Choose the correct antonym of

7
e vital :
A. previous
) B. pride
Options
affluence
s D. unimportant

Q8 Not dependent on another is

A. undependent
B. imdependent
Options )
JC. independent
D. misindependent
QO [tis ~~ tosend cards at the New Year in our country.
A. custom
) v B. customary
Options
C. customer
D. customerily
Q (10) I believe that | got no right.
JA have
has
Options )
did
D. am

Culture is the cultivation of a plant or garden, not the eradication of its roots, it is an
understanding of the roots and seeds, their patient care and instructed nourishment. Culture is
not knowledge, nor is it art, still less is its acquaintance with literature and art. By culture 1
mean first of all what the anthropologists mean; the way of life of a particular people living
together in one place. That culture is made visible in their arts, in their social system, in their
habits and customs, in their religion. It is an aggregate of customs, institutions, manners,
standards, tastes, morals and beliefs. Now these are transmitted rather by the family than by
the school. hence when family life fails to play its part, we must expect our culture to

Q(11)  deteriorate.

[t is a delusion to think that the maladies of the modern world can be put right by a system of
instruction. On the contrary, universal education, by lowering standards. morals and tastes to a
common denominator, and by sharpening the wits rather than disciplining character, tends to
break down existing checks and balances. Education should be the drawing forth of potential
values. it should not be the destruction of the safeguards that tradition places around young
egos naturally inclined to willful and precarious flights.

The writer uses the term 'culture' to refer to

Options |~ 4, the cultivation of a plant or garden by a community
B. tapping and encouraging the inherent values in man
JC. the substitution of old traditions with new ones
D. the development of moral standards
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Culture is the cultivation of a plant or garden, not the eradication of its roots, it is an
understanding of the roots and seeds, their patient care and instructed nourishment. Culture is
not knowledge, nor is it art, still less is its acquaintance with literature and art. By culture 1
mean first of all what the anthropologists mean; the way of life of a particular people living
together in one place. That culture is made visible in their arts, in their social system, in their
habits and customs, in their religion. It is an aggregate of customs, institutions. manners,
standards, tastes, morals and beliefs. Now these are transmitted rather by the family than by
the school, hence when family life fails to play its part, we must expect our culture to

Q(12)  deteriorate.

It is a delusion to think that the maladies of the modern world can be put right by a system of
instruction. On the contrary, universal education, by lowering standards, morals and tastes to a
common denominator, and by sharpening the wits rather than disciplining character, tends to
break down existing checks and balances. Education should be the drawing forth of potential
values, it should not be the destruction of the safeguards that tradition places around yvoung
egos naturally inclined to willful and precarious flights.

The culture of a community is transmitted

A. more by school than the family

JB. more by family than school
Options
C. equally by both

D. by the peer group

Culture is the cultivation of a plant or garden, not the eradication of its roots, it is an
understanding of the roots and seeds, their patient care and instructed nourishment. Culture is
not knowledge, nor is it art, still less is its acquaintance with literature and art. By culture 1
mean first of all what the anthropologists mean; the way of life of a particular people living
together in one place. That culture is made visible in their arts, in their social system, in their
habits and customs, in their religion. It is an aggregate of customs, institutions, manners,
standards, tastes, morals and beliefs. Now these are transmitted rather by the family than by
the school, hence when family life fails to play its part, we must expect our culture to

Q(13) | deteriorate.

[t is a delusion to think that the maladies of the modern world can be put right by a system of
instruction. On the contrary, universal education, by lowering standards, morals and tastes to a
common denominator, and by sharpening the wits rather than disciplining character, tends to
break down existing checks and balances. Education should be the drawing forth of potential
values, it should not be the destruction of the safeguards that tradition places around young
egos naturally inclined to willful and precarious flights.

The passage suggests that universal education

v A is, in fact, aggravating the existing problems of the modern world

_ B. is the solution to the problems in the modern world
ptions o _
would prevent us from transmitting culture to the future generation

D. would help retain the cultural values

Q (14)  Culture is the cultivation of a plant or garden, not the eradication of its roots, it is an
understanding of the roots and seeds, their patient care and instructed nourishment. Culture is
not knowledge, nor is it art, still less is its acquaintance with literature and art. By culture 1
mean first of all what the anthropologists mean; the way of life of a particular people living
together in one place. That culture is made visible in their arts, in their social system, in their
habits and customs, in their religion. It is an aggregate of customs, institutions, manners,
standards, tastes, morals and beliefs. Now these are transmitted rather by the family than by
the school, hence when family life fails to play its part, we must expect our culture to
deteriorate.
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It is a delusion to think that the maladies of the modern world can be put right by a system of
instruction. On the contrary, universal education, by lowering standards, morals and tastes to a
common denominator, and by sharpening the wits rather than disciplining character, tends to
break down existing checks and balances. Education should be the drawing forth of potential
values, it should not be the destruction of the safeguards that tradition places around young
egos naturally inclined to willful and precarious flights.

According to the passage, education is

A. the sharpening of wits
_ B. tapping and encouraging the inherent values in man
Options o . . )
C. the substitution of old traditions with new ones
s D. the development of moral standards

Culture is the cultivation of a plant or garden, not the eradication of its roots, it is an
understanding of the roots and seeds, their patient care and instructed nourishment. Culture is
not knowledge, nor is it art, still less is its acquaintance with literature and art. By culture 1
mean first of all what the anthropologists mean; the way of life of a particular people living
together in one place. That culture is made visible in their arts, in their social system, in their
habits and customs, in their religion. It is an aggregate of customs, institutions, manners,
standards, tastes, morals and beliefs. Now these are transmitted rather by the family than by
the school, hence when family life fails to play its part, we must expect our culture to

Q(15) | deteriorate.

It is a delusion to think that the maladies of the modern world can be put right by a system of
instruction. On the contrary, universal education, by lowering standards, morals and tastes to a
common denominator, and by sharpening the wits rather than disciplining character, tends to
break down existing checks and balances. Education should be the drawing forth of potential
values, it should not be the destruction of the safeguards that tradition places around young
egos naturally inclined to willful and precarious flights.

The culture of a community is said to deteriorate when

A. there is a fall in its educational standards
_ v B. the family life fails to play its part
Options 7 .
there is universal education
D. it adopts the modern system of instruction
Translate in to English:-
Q (16) e ”
g 691N gYIRtlfe dol 699 @ ?
A. Will it be a worker meeting ?
v B. Will it be a workers' meeting ?
Options ) .
[s it be a workers meeting ?
D. Will meeting it be a workers' ?
07 Translate in to English:-
‘?iGQIG‘I\‘I QQS‘@IQ AFSNR 621NN 99° 2F6S AR ARAIRS |
A. [ met with a accident and I was only hair's breadth escape.
) v B. [ met with an accident and I had only a hair's breadth escape.
Options ) . _
. [ meet with an accident and I am only a hair's breadth escape.
D. [ meet with a accident and I have only a hair's breadth escape.
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Translate in to English:-

18 . N =
R NE dmigleq de 990 g dIgRs @ ?
A. Is these boys coming to school every holiday?
v B. Are these boys coming to school every holiday?
Options
Were these boys coming to school every holiday?
D. Was these boys coming to school every holiday?
Translate in to English:-
Q19) o S
49 @dl 1% 2Ieq 09 @R |
JA. Things are going from bad to worse.
B. Things were going from bad to worse.
Options
Things are goes from bad to worse.
D. Things were goes from bad to worse.
020 Translate in to English:-
0) 6<1 90I6Q gIgk AIFQQ DI |QIFl @6M I9° Q' AR ARG SINGIER |
A. He worked here about five day and then go home.
v B. He worked here for about five days and then went home.
Options
He works here for about five days and then gone home.
D. He work here for five days and then go home.
Subject: Odia Language | Chapter: Set-2
QI dalsl @l
Q@)
EIWIe-
A. QEe 2wl
B. ER 2ldle
Options
v C. eIl 2l
D. Lu0IR 2lJIe
dQUQd QIS |
QQ2) ¢
QY -
A. 1LY
v B. e
Options
C. e
D. 1@
- 84 61950 UG 226RIIR IR §'6 629 ?
dioe
Options
JA. NI
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B. addiong
c. aaq

D. 2gie

0@ QUYS F991S Elﬁ‘qglﬁ‘ Jodl @ |
6w QEQl e |

JA. el
Options B e
C. @l
D. aagl

Q(5) IR ! AV 66166 TAI AITIAY KAG | - 9L 9K & YRR AUKY ?
A, USRISS

_ B. delgdoa
Options
vC. 2dgeRigea
D. 29690a

Q(6) '20QIg® T9l 69 QIYT 6291 YL@ G6L | - YT QIRY6R TR IR 69Q S ?

v A. 2
B. ASRIE!
Options _
Q6oINEl
D. ael

Q(7) 69INEE QRLAIRER 6491 K6 |- %R 69Q 9RI9Q QIQY ?

JA. 99RQIaY
B. R5R QI9Y

Options _
gl Q1eY
D. 6dlSq Q1KY
JRTERT QEM 96 629 ?
Q(@®

gl

A.  S@+aQe
/B, <eg+agle

Options
C. Qg + e
D. Quwl + die
F69I2 996 g8 68 5L
Q) D J9let g Q12 |

(A) QY (B) QU984 (C) QI (D) QUYR
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JA. QYR
B. QULER
Options
C. Qg
D. QYR

Q(0) 'gd@ 2GR SRR KIS - F6YIB 69X CRINFINT6R 9T 2elT §XIN6T ?

JA. 296968 o 9de @&
B. ZfiF 68IRQ ARG
C.  69I% Q069 aRel 39l
D. Q&2 2agl

Options

2AF684T dI0RQ 6I' B6R Q2ILINYR FFYEeq Qe AGERe ARINEH @2 |

RANRFER AEYT US| AFE AITSIER FEPRG F 699 AITGY 6RAIAG GOF
2RNN6Q GEARNE FJLQ q&za 2R 6°F 962, €121 @ 6nIe AIT6Y | g1 49
62669 24l 26T I AR AITCY AER | 699 2ITE FIRY ILIR IF [N 2A9AL | IGF
QTEM A6 629 64 AGY0 YT 426 IOR dITSY AFISAUR NFEA 616 aQ 2GR | 9
AReY 6melarIes ARISRIAll 22l 121g &9 I8 @08 66T Q148 Q1T 64164 QRIS Q!
gas 26e 29% IR 69144 Q43 F6419 9EIg 9T R AILIZ | A AYS QU6 6RIR
Q1) JIELYR LG ¢e 2F Gaa @ell ¥R FlIg AET 4 FI9181Q LI 2°gE 2 6TIRS |
(89 g9l G891, 2GR, 69961 G ASHILR 5B 6MIF ALGUER SRR QAU ARINE
585N Bl F19Q @2llg 69168 F61H (6N 986 AUNER QYB AR | I AIFTSY
SFIRAINRO0IR 2I9Q 67 AT GALRIKEIR Ty ANLFA QRSN 6RIS AITSY
CRIER 60Q TRSRG! 21, BIL| ASMIR! 961 ARYAR AIGS FTG €13 A°SRAN | gL
dioR dIOKICISS 6T AITGY I AL AR FAT | 6AIF AITGUQ Tl A°GIT IR 6999
ARJIFR AITGY6R QULEIR FTRIER TR §F B 6RTIKFAISE T68Y 2IPL YNIE FQKRE |

6MIG AIEGY RILIG LI ?
VA, GedRIQES eR [eg JIR 699 ATSY °56S
B. GRS 7195 &R ARSI AITSY
C.  6RIS 9T QIS AITeY
D.  6RIF 6AYYASI AIRGY

Options

Q02) | 206267 91098 6I' 267 FALINYS FFIELN AQQ, AFERS ARINEH §2 |

REWRER TELE APYSI T AITCUER YEPRE g | 692 IS 6MIAG 668
AIFIR6R FEARIET LR 91@@ AR 8°F 962, 6121 € 6RIe AT6Y | AR 99
62662 Q6 26T T AN ATGY AER | 69 ARF AR ILIR & 989 2A9AL| 967
T6M J6AR 629 64 F1G89A YT ATG Y AITSY AEISAUR AIFER 916 KR 2L |
AReYQ 6meiarles ARISRIAI A2l 92Ig §I IR @08 60T 168 Q1T 6416 QRIS &
Jaf 266 09l AR 69168 QUB F6619 9EIg 9B AR QILIZ | ASEY MY QTR 6RIT
TR 29T 99 2F TR K2l IR FlIg QRE°¢ FIPIRIR ILIR L°IL 2N 6L |
(&89 gel- G891, 2GR, 699G 6 2ALHILR BS 6T AILGYER SRR QAU ARG
Q895N Gl FIRQ R2lIg 6168 G648 FEE6R 95396 RITER B RN | 9 AIFGY
QRIAFIRRO0IQ 2N @3 ATVE BRI Adyg LR TN | 6RIG AITGY
CRIER 699 TRBAG! 21, FILI ASNIRI F6¢1 ARYER AIFS FRT'Y Fl LSRN | 4G
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Q108 QI0RIFIEH 6RAIG ATSY 97 ZIFE AIQ FOG | 6AIF AITEYR Fel 2°ge 85 69999
AR ATEYER QULLIS FRIEE ZITA 98 B CRSGFISH G648 2IPT galE F9RT |

6RIS FITCY MGG QTR 68690 A°GIT SIS ?

A. 2T FIRQ
B. o8 SI9IRIQ
Options _
v C. @RT°FNFINNQ
D. ARYAS LIQ

AL68ET AI0KR 6I' 867 QAININYS] FIIEIR AR, AFELL ARINER G2 |

RALVISRER TTYE APAS| AT ATCYER JETFHS 4| 692 AITSY 6MIAT 90
IR GG FEQ 91@@ AR 9°F 6L, SI12I & 6AIF AT QIR A
626169 A4l 26D T AR LB Q2R | 69 AT AR ILIA Y] FER ALAT | 9GF
ATEM U62AY 629 64 AHYR I/ TG Y6h ATGY AFISAUR QTR 9E @7 2GR |
ATGUR 6RSIRENIEE ARISRIAN 2le 92Ig &9 g8 Q08 66T 7143 AIT] 64169 ASIQ <l
ga8 2EE K091 AR 69168 QUB T641F YLIg I& 98 QICIB | AREY RIS QU6 6RIR
Q(13)  dIEGYR °PL ¢S 2P Gaa Kalll IR FIE @RE°4 FIPIN1R ILIR L°FL 2 6LIRE |
A8 Ggi- 9891, LR, 699K B AGLIER T 6AIF AITCUER ISR AULER ARIAE
8GN G 199 @2l 67168 T648 (66N 5396 QIER QIS RN | 9 AITGY
SIGFIRFOIQ 2198 AR 2TFE FARINEIT AdS AFIFA QAN | 6RIF AITSY
FRIER 6UQ SASFE] 219, SIRI ALRIRI G661 ARTR FINS FREG FI)I AERAN | 2GR
QIoS QI0KIFIER 6MIT AITRY 9@ 2GS RIV FAE | 6MIF AITGYQ F12 A°ge 88 6999
ARJFR ATCYER FUSLID KARIER TR 9T B 6RIRCNCH T66F 2IPL YRS FQRT |

6RIE AITCYCR ATINRRAUSEN '€ RIS €I 2
A 60486089 899
B. edea
C.  @ee sl
vD.  a8a9 g9, 986, 261g, 699FI 6 2eIan 58

Options

2Q689T €I0RG 6I' B6R TUIAINYSI YIYELR AR, 2AFEKRT ARINER §2 |

PERIRE0 FOYE APYS| ATl ALGY6R JOTRS § 69% AIRSY 6MIAR 988
AIKINER R LR L7 QIR °F A6L, Q12 T 6RIT ATGY | 9NN g
626169 241l 26T 1 AR ATFY ARR | 69Q AR AR ILIA YT KL AAAS | IGF
QTEM L6AR 629 69 AGYR YT 426 IR WG AFISAUR AR 6F A3 TR | 9
ATRYR 6RSRTIER ARSRICN 2I6 9L § 9T 08 64€ @163 Q1T 69168 94l
ga% 2EE 2091 AR 69168 QU T64F YLIg 9] R FILIB | AEY RYS QU 6RIR
Q(14)  dIFeYR L°YL ¢ 2F G K2l IR TG ARE°F FSINQ YR °G L 2 6T |
AGSQ Yo- 9891, ALQ. 696G B USAILA BF 6MIR AITCUER SRR AUFEA ARIRE
8T Gl F19Q @2l 6168 T668 (EE6R J539E QITER QIS QAN | AITGY
FYIAFIRFO0IR 2INE 83 TS FeARIRER Adyg AR AN | 6RIF AITGY
FRIER 60K SRBAG! 21, FILI ASMIRI 96¢1 ARJFR FIGS TG F1dl LSRN | gL
dI0R AI0RIFIER 6MIG AEGY 9E IR AR KO8 | 6MI ATSIQ F2l I°gT 95 69999
ARYFD AEGUER QUQLIR KRR 2IFA 9T 6 6RIRIES 669 2IPL IRl FRT |

699 696160 6RISITSY 69YaIg ARG ?
Options |\ qg1 6 Q@6QIQ
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JB. JR1R 99694
C. 6R9m 942l F121694
D. 2loQ 694

2Q689% IO GI' B6R FUILINYS dFYLFN ARR, 2ATERS ARIAECR G2 |

RERISA6R FEYT APESl Ae4 ATCYEE IETRE 24 606 A6 6AIRS €88
2NN KFARNGT LR 8 IR 9°F 062, GIal T 6AIF ATSY| 918 9g
626169 Rl 2Y6S I MR AITGY AER | 694 ATE FIRQ LI YT K4S 2DAS | 95T
QE6M L62Y 69 69 AT9R 97 TG YOR AITSY AFIBAIR QILER 9T 93 2T | ¢
AITGYQ 6mEREIEs ARIeicl] 2216 9eig &9 98 G08 698 @I AIF1 6916Q QRIS Sl
gaa 26e 239! din 65163 QUE F668 I9Ig 98 97 FITB | A9EY RS QTR 6RIF
Q15 dIZGYR L°PIe 9o 2F Toa a2l IR FIg KRG °E F6I1919 ILIR S°g2 ZIRE 62IRE |
AESR g6- 9841, 26lQ. 699%1 6 ABFIER TG 6AIF ATCU6R AISAIR QUSER ARINE
CIEEE G F199 F2llg 69163 T64IY (J266R Y6896 QIT6R §UB @Bl | I AIFGY
SFIRAIRFOIR Alae §5 ATTE KeARlods adis I0IFa A1l 6RIR AITEY
FRIER 609 528G 21, SIZI ATRIRI G661 AYAR IS BEG FII I°6RaN| 9gadia
QoG AIDSKICIES 6RIS FITGY OF 2I6e AR SO | 6AIF ATGUQ F2 °ge 9 69999
2ARJFR ATRUER TUSLIR RDRIER 2ITR OF B AR F661F 2IgT IRI8 FQRT |

2ARYES AITCUER 6MIKAITEY AR RQULER QULEE ?

A. oIF QIR
B. A50l QISER

Options
C. de1a Qe
v D. fel fUee
R°AUR1 PR 0@ BF2 AFLIQ CAR /R
Q (16)
Turn left at the next square.
A. 69 SR 8% QRICIG MM
B. 69 J99R1 8% Q [IFlg 9MAIER
Options .
v C. dReEl 8a Q QIFlg gm |
D. 69 HRREN 8: QQIIG 9 ARG |
Qa7 R°QUR1 2GR 0% BFE AFRIS AR AR
We had a good time at Dushera.
VA. Q9261999 AN amea STl |
B. 44 2R QI2 QN6 TR 1
Options
C. 499 29 GHLR ARED @eong |
D. Q42 ¢ 94 2IFIR ARER @9 Ing |
RQ°QUR1 APERAR A0S BF2 AFRIS SR AR |
Q (18) ; ;s
It is easy to say but difficult to work.
Options

A SI519561 926 @9 92l 9861 956 K% 1
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/B. @2l REQI LR, §g FIFl 89S 9
¢ @2l RS 99R, A9 U7 AT AR G6E |
D. @2l fEQI 920, A FIF 9ARIQ CLC A 62QR |

Q°QUR1 2GR 09 (G2 AGLUL SAe ! 1

Q(19) o 2 :
Seeing him thirsty, I gave him some water
A GIg QUIR IR 699 ¢ AR Q& QR QI
v B. Qe Q‘&i@ 2RI 69g ?i@@ aIdl 69M 1
Options . S -
C. Bl @UlE 2R 697 ¢] AR die] 690 1
D. @@I@ 2RI 69 ﬁ@lﬁi A& 6QE |
0 20) Q°QUG1 AR A0F BG2 AGLUQ UG 9 1
Not being willing to work under me ,he gave up his service .
A. 6611 21019 69 QIF1 FRQIQ IFEG @ 6LIR 64 FIFA KT QL6 |
B. 6611 219 69 QIF FEQIG JFG @ 6RIR 69 SIAA RIFESS |
Options

C. 661l 219 69 RIF FEQIG AFG @ 6N 69 FIAA RIFAIER |
v D. 6¢11 2RI1G 69 R ARG IFL @ 6217 64 1T KIGeQml |
Subject: General Studies and Computer | Chapter: Set-2

Q) How many bits are in a byte?

A. 32
) B. 16
Options
JC: 8
D. 64

Q@2 Microsoft office is

A. shareware software
) B. public-domain software
Options
C. open-source
v D. an application suite

Q@3 Transformation of input into output is performed by

A. peripherals
) B. memory
Options
C. storage

JD. the CPU

Q@) Heating of a substance results in
Options | 4 a physical change

B. a chemical change
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JC. a physical or a chemical change

D. None of the above

Usually light travels faster than sound. However, when we switch a television set on the

26) picture comes later than the sound. The reason is that
A. in TV transmission sound is transmitted first and switched on
) B. there is always a delay in the picture tube getting switched on
Options o ) )
v C. Emission of electrons from the picture tube takes time
D. The wiring for picture tube is much longer compared to that for the speaker

Q (6) A person who lives exclusively on milk, egg and bread is likely to become a victim of

A, rickets
v B. scurvy
Options
xerophthalmia
D. None of these

Q) Which of the following is not an animation effect?

A. Appear
B. Fade
Options
JC. Translate
D. Wheel
Some web application maintain the list of websites and a brief summary of their content in
Q(8) Large databases. These large databases are called and these web applications are
called
A. Search Engines, Indexes
) v B. Indexes, Search Engine
Options _
. Hyperlinks, Webpages
D. Search Engines, Browsers
Q (9 Which one among the following rivers originates in Maharashtra and flows through Karnataka
and Andhra Pradesh to meet the Bay of Bengal in Andhra coast?
A. Mahanadi
B. Caveri
Options
Krishna
D. Godavari

Q (10) | India imports good quality raw wool in a major way from which of the following countries?

A. England
) B. Sri Lanka
Options _
JC: Australia

D. Germany
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Q (11)  Who wrote the book 'Indica'?

A. Seleucus Nicator
_ v B. Megasthenese
Options )
C. Alberuni

D. None of these
Q (12)  Which of the following kingdoms is not mentioned in the Ramayana and the Mahabharata?

A. Panchala
_ B. Kashi
Options
JC. Kaushambi

D. Magadha
Q (13)  Which of the following soil is suitable for plantation crops?
A. Black soil
v B. Laterite soil

C. Red soil
D. None of these

Options

Q (14) = On the 21st June, the day light is seen at the North Pole for

A. 0 hrs
B. 12 hrs
Options
C. 18 hrs
JD. 24 hrs

Q (15)  Teesta forms a part of which major river system?

A. Ganga

B. Krishna
Options

C. Cauvery

v D. Brahmaputra

Q (16) = Water boils as a lower temperature on the hills because

A. it is cold on the hills
_ B. there is less carbon dioxide on the hills
Options
JC: there is a decrease in air pressure on the hills
D. there is less oxygen

Q (17) | Select the one which is not a mixture

A. Air

B. Gasoline
Options

C. LPG

JD. Distilled water
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Q(18) Anju Bobby George is associated with which game ?

A. Shooting

v B. Athletics
Options
Chess
D. Cricket
Who was the last independent ruler of the medieval Kingdom of Odisha

Q19)

A. Govinda Vidyadhar

) v B. Mukundadeva

Options

Prataprudradeva

D. Kapilendradeva
Q (20)  The resolution of Puma Swaraj was adopted at which session?

A. Karachi Congress

) B. Haripur Congress
Options

Lahore Congress

D. Lucknow Congress
Q (21) = Why did Manchester export to India decline after the First World War?

A. People were busy fighting the war.
B. Factories closed down due to security problem.
Options ) ‘
Factories and mills were busy producing goods to fulfill the need of army.

D. Export trade was restricted by the government.

Q(22)  Inthe17h century, merchants from towns in Europe moved to the countryside to:

supply money to peasants and artisans to persuade them to produce for international

JA.

markets.
Options =~ B persuade them to settle in towns.
C. provide them with small workshops.
D. stop them from working for other companies.

Identify the incorrect option.

23
Q23 Early entreprencur of India:
A. Dwarkanath Tagore of Bengal
B. Seth Hukumchand of Calcutta
Options

JC. Bhai Bhosle of Bombay
D. Dinshaw Petit and Jamsetjee . Nusserwanjee—Parsis of Bombay.

Q (24)  Name the most dynamic industry in Britain.

Options | 4, Food processing
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B. Leather goods production
v C. Cotton and metal industries
D. Electronic goods production

Q (25) @ The 3rd World Kuchipudi Natyotsavam started in which state?

A. Karnataka
B. Sikkim

JC. Andhra Pradesh
D. Uttar Pradesh

Options

Q (26) = Which online mobile application has been launched by Jammu & Kashmir Police?

A. JK Dcop

) B. JK Kcop
Options
C. JK Scop
v D. JK Ecop
Q@27 Which state has signed an MoU with the US-based Parly for the Oceans regarding plastic
waste management in the state?
A. Maharashtra
) B. Gujarat
Options .
C. Odisha

JsD. Andhra Pradesh
Q (28)  Which state has launched the 'Rural Backyard Piggery Scheme' for the welfare of the farmers?
A. Uttar Pradesh
JB. Meghalaya
&3 Maharashtra
D. Arunachal Pradesh

Options

Q (29)  When will National Nutrition Week is being celebrated?

JA. Ist to 7th September
B. 3rd to 9th September
C. 4th to 10th September
D. 2nd to 8th September

Options

Q (30)  Where is Mahatma Gandhi Prison Academy is located in Odisha ?

A. Sargipalli

B. Dhanupalli

C. Chhatrapur
v D. Chhatabar

Options

Subject: Numerical Ability and Reasoning | Chapter: Set-2
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Choose the odd numeral pair/group in each of the following question.

QM . : : .
(2)12:7 (b)20:12 (c)36:19 (d)28:15
A. 12:57
B. 20:12
Options o
36:19
D. 28 :15

In the following question, some groups of letters are given, all of which, except one, share a
Q?2) common feature while one is different. Choose the odd one out.

(a) AOB  (b)A1C (c)A3D (d)A3E

A. A0B
B. AlC
Options
v C. A3D
D. A3E

In the following question various term of a letter-numbered series are given with one term
Q(3)  missing as shown by (?). Choose the missing term out of the given alternative.

AZ,GT,MN, ?, YB

Al KF
B. RX
Options
JC. SH
D. TS
Q@4 The value of \/248 + /62 + v m|is
A. 14
) v B. 16
Options
16.6
D. 18.2
Q (5) In a row ten boys, when Rohit was shifted by two places towards the left, he became seventh
from the left end. What was his earlier position from the right end of the row?
A. First
) v B. Second
Options
Fourth
D. Sixth
Q (6) Find the greatest number which will divide 148,246 and 623 leaving remainders 4,6 and 11,
respectively.
Al 10
B. 20
Options
12
D. 9
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Find the least number which when divided by 12,15 and 20 leaves remainders 4,7 and

QD 12,respectively.
A, 48
) B. 60
Options
v C. 52
D. 64
Q (8) The tax on a commodity is diminished by 15% and its consumption increased by 15%. Find
the percentage decrease in the revenue collected from it.
A. 2%
B. 2.5%
Options
L C: 2.25%
D. 2.75%
Q) Due to increase of 30% in the price of a colour Tv, the sale is reduced by 40%. What will be
the percentage change in income?
A. 10% increase
B. 10% decrease
Options
C. 35% decrease
JD. 22% decrease
Q (10) At present,Meena is eight times her daughter's age.Eight years from now,the ratio of the ages
of meena and her daughter will be 10:3, respectively. What is Meena's present age ?
J A 32 yr
B. 40 yr
Options
C. 36 yr
D. cannot be determined
Q (1) A trader marked the selling price of an article at 20% above the cost price.At the time of
selling he allows certain discount and suffer a loss of 4%. He allowed the discount of
JA. 20%
B. 25%
Options
C. 24%
D. 22%
Q(12) The marked price of a radio set is Rs 480.The shopkeeper allows a discount of 10% and gains
8%.If no discount is allowed,his gain per cent would be
A. 18%
) B. 18.5%
Options
JC. 20%
D. 25%
Q(13) The students in three classes are in the ratio 2:3:5.1f 20 students are increased in each class,the

ratio changes to 4 :5:7. The total number of students before the increase were
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A. 10
_ B. 90
Options
JCs 100
D. None of these

Raj and Roy start walking in opposite directions. Raj walked 3 km and Roy walked 4 km.
Q (14)  Then, Raj turned right and walked 4 km and Roy turned left and walked 3 km. How far is
each of them from the starting point?

A. 4.5 km
B. 6 km
Options
JC. 5 km
D. 8 km

Q (15) Raghu and Babu are twins. Babu's sister is Reema. Reema's husband is Rajan. Raghu's mother
is Lakshmi. Lakshmi's husband is Rajesh. How is Rajesh related to Rajan?

A. Uncle
B. Son-in-law
Options
J C; Father-in-law
D. Cousin
Q (16) Ravi can row downstream at 9 km/h and upstream at 5 km/h. Find the speed of Ravi in still
water and speed of current.
JA. 7 km/h and 2 km/h
_ B. 8 km/h and 6 km/h
Options
7 km/h and 3 km/h
D. 8 km/h and 2 km/h
Q7 A train 100 m long moving at a speed of 50 km/h crosses a train 120 m long coming from
opposite direction in 6 s. The speed of the second train is
A. 132 km/h
v B. 82 km/h
Options
60 km/h
D. 50 km/h

Q (18)  Find the average of all the numbers between 6 and 34 which are divisible by 5.

A. 18
v B. 20
Options
24
D. 30

Q (19)  What is the probability of choosing I at random from the word EXAMINATION?

Options | /A, 211
B. /4
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C. 1/8
D. 1/11

Q (20)  What is the probability of choosing A or T at random from the word MATHEMATICS?

A. 1/4
B. 1/2
Options
S 4/11
D. 2/11

Q (21) Ifthe mode of 12, 14,19, 16.x, 12, 16, 19, 12 is 16 then find the value of x .

A. 12
] v B. 16
Options
C. 19
D. 18
Q(22) How much greater is the Mean of the first 6 even numbers than the Mean of the first 6 odd
numbers?
A. 0
B. 2
Options
SICs 1
D. 3
Q (23) For what value of k, the pairs of equations with x + ky = 2 and 4x + 12y = 8 has infinite
= solutions ?
A. 4
B. 2
Options
C. 1
v D. 3
If the two equations ax + by + 5 =0 and 2x +y + 1 = 0 are inconsistent, what is the value of
QR ab?
A. 1:4
] v B. 2
Options
C. 12
D. 4:1
Q (25) The sum of a number and its term is 3. If the number is X, what is the required quadratic
equation ?
A x2-3x+2=0
B. X< %= 5=0
Options

vC. x%-3x+1=0
D. X2 +3x+2=0
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Q (26)

Options

Q27

Options

Q(28)

Options

Q(29)

Options

Q30

Options

Which of the following quadratic equations has sum of roots 4 and product -5/2 ?
A. 2x%-8x+5=0
B.  2x*+8x-5=0

JC.

D.  2x>+8x+5=0

2x2-8x-5=0

Find the sum of the following arithmetic progression

-26,-24,-22........ to 36 terms
A. - 320
B. -322
C. 0
vD. 324
What should be subtracted from 3/5 to get 6/11?
A. 55/30
B. 18/35
4 G, 3/55
D. -55/3

If 0.8% is converted into fraction, it will be

A. 8/10

B. 10/800
v C. 8/1000

D. 100/8000

A two digit number is such that the product of its digits is 18. When 63 is subtracted from the
number, the digits interchange their places. Find the number ?

/A g
B. 36
C. 63
D. 29
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